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o mme Source Destnation Protocal”| Info
581 51.065026  172.16.0.84 153.233.144.5 TCP 1061 > 5008 [ACK] Seq-535 Ack=350 Wi
580 S1.064831  153.233.144.5 172 TCP  B0OB > 1061 [FIN, ACK] Seq=345 Ad

570 51.063402  172.
578 51062515 193

16.0.84 103,

172

.5 TCP 106l > 8008 [FIN, ACK] 5eq=334 Ac)
TCP_ [TCP segment of a reassembled PDU]

RS TR T [TCP segment Of a reassembled FDU]
575 51.055007  103. 172.16.0.84 TCP 008 > 1061 [ACK] Seq=l Ack=355 win=6432 Len=0

574 51.054211 172. 103.233.144.5 TCP  [TCP segment of a reassembled POU]

573 51.045831  172. 103.233.144.5 TCP 1061 > 8008 [AcK] 5535 Len-0

572 51.045642  103. 172.16.0.84 TCP  BOOB > 1061 [SYN, ACK] 5eq=0 Ack=1 Win=5840 Len=0 MS5=14

571 51.044676 172 103.233.144.5 TCP 1061 > 8008 [SYN] Seq=0 Len=0 MsS=1460

569 50545440 172.16.0.84 153.233.144.5 TCP 1060 > 8008 [ACK]
568 50.846242  153.233.144.5 172116.0.84 TCP  B0OB > 1060 [FIN, ACK] Seq=345 Ad

567 50.844862  172.16.0.84 103.233.144.5 TCP 1060 > 8008 [FIN, ACK] Seq=534 Ad
566 50.843867 103.233.144.5 172.16.0.84 TP [TCP segment of a reassembled FDU]
565 50.837225  103.233.144.5 172.16.0.84 TCP 5008 > 1060 [ACK] Seq-1 Ack=3534 Win=7504 Len=0

@ Frame 577 (60 bytes on wire, G0 bytes captured
= Ethernet TI, src: Cisco_7e:fc:4o (oo: :49)
o Internet Protocol, Src: 103.233.144.5 (103.233.144.5), Dst
version: 4
Header length: 20 byres
@ Differentiated services Field: 0x00 (DSCP OXOf
Total Length: 40
Identification: 0xc600 (50688
[ Flags: 0x04 (Don't Fragment)
Fragnent offset: 0
Time to Tive: 62
Protocal: TCP (0x06)
@ Header checksum: 0x787¢ [correct]
Source: 103.233.144.5 (193.233.144.5)

i Intel_b3:f3:dc (00:07:e9:b3:F3:dc)
172.16.0.84 (172.16.0.84)

Default; ECN: 0x00)

33 00 00 00 00 00





